SEHAHPE S—HEETAE  HEHf: 98.09.18

&t R /63
1-1EBE( 1 )2
El s JEEER =

— iEE (BE 25 )

1+ FabeN > “a>b ¥ (ab)=36 [ab]=432 > Z:RErsf(ab) -
% %0 (432,36); (144,108)
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Fa=36h, b=36k, hkeN (hk=1h>k
[a,b]=36hk = 432 = hk =12 » 771" B (h,K) = (12,2), (4,3)
Hrf (a,b) = (432,36 ); (144,108)

2 -FabeN »Fa-b=24, [ab]=420 » FFEr¥f(a,b) -
% %[ (84,60)
[ESIR
R G @,b)=d - a=dh, b=dk, hkeN = (hk)=1"
a-b=24=d(h-k)=24
[a,b] = dhk =420 >
(h,k) =1= (h—k,hk) =1=d = (24,420) =12

h—k=2_[h=7 __ O
{hk=35 :‘{kzs T Grsh(hk) = (7,5) - Brt(a,b) = (84,60)

3~ (L)FEFF [HAgEAE Rk o (5607, 6853) -
(2)FEFH L1~ 7' FeE(m, n) {9 (5607,6853) =5607m +6853n
(3)74:1 [5607, 6853]

L (1623 (2) (m,n)=(5,-4) (3)61677
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a 5607 | 6853 | b
-4a+4b 4984 | 5607 | a

5a-4b | 623 | 1246 [-a +b
1246

0

(1) (5607,6853) =623
(2) 5a—4b =623 = 5607 x (5) + 6853x (—4) = (5607,6853) + T (m,n) = (5,~4)

(3) (5607,6853)[5607, 6853] = 5607 x 6853 = [5607, 6853] = % - 61677
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§+%=25:>25ab—20a—15b=0:>(5a—3)(5b—4):12
5a -3 |2 |3|4|6|12 a|1 |* |*
5a-4b|6 |4|3|2|1 b|2 |* |*

Wi (ab)=(12):(31)
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